East Ayrshire Council

Transfers Report

This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 2 - Kilmarnock North

3,882

3

971

Stage 1

| Candidate Name | Affiliation | No. of Ballot Papers |
|--------------------------|------------------------------------|----------------------|
| Elaine COWAN | Scottish National Party (SNP) | 1,483 |
| Ian GRANT | | 316 |
| ALLAN MACDONALD | Scottish Conservative and Unionist | 536 |
| WENDY MACDONALD | Alba Party for independence | 99 |
| Maureen MCKAY | Scottish Labour Party | 1,084 |
| David William RICHARDSON | Scottish National Party (SNP) | 364 |
| | Total | 3,882 |

Candidate Elaine COWAN Elected with 1,483 votes, being in excess of the quota of 971 Candidate Maureen MCKAY Elected with 1,084 votes, being in excess of the quota of 971

This report contains the transfers results.

Stage 2 - Surplus of Elaine COWAN

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|--------------------------------------|-------------------------|----------------|-------------------|
| Transfer to Ian GRANT | 80 | 0.34524 | 27.61920 |
| Transfer to ALLAN MACDONALD | 18 | 0.34524 | 6.21432 |
| Transfer to WENDY MACDONALD | 42 | 0.34524 | 14.50008 |
| Transfer to David William RICHARDSON | 1,230 | 0.34524 | 424.64520 |
| | | | |
| No further preference | 113 | 0.34524 | 39.01212 |
| Not transferred due to rounding | | | 0.00908 |
| | Total | | 512.00000 |

This report contains the transfers results.

Stage 3 - Surplus of Maureen MCKAY

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|--------------------------------------|-------------------------|----------------|-------------------|
| Transfer to Ian GRANT | 215 | 0.10424 | 22.41160 |
| Transfer to ALLAN MACDONALD | 229 | 0.10424 | 23.87096 |
| Transfer to WENDY MACDONALD | 57 | 0.10424 | 5.94168 |
| Transfer to David William RICHARDSON | 155 | 0.10424 | 16.15720 |
| | | | |
| No further preference | 428 | 0.10424 | 44.61472 |
| Not transferred due to rounding | | | 0.00384 |
| | Total | | 113.00000 |

This report contains the transfers results.

Stage 4 - Exclusion of WENDY MACDONALD

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|--------------------------------------|-------------------------|----------------|-------------------|
| Transfer to Ian GRANT | 29 | 1.00000 | 29.00000 |
| Transfer to ALLAN MACDONALD | 7 | 1.00000 | 7.00000 |
| Transfer to David William RICHARDSON | 40 | 1.00000 | 40.00000 |
| Transfer to Ian GRANT | 4 | 0.34524 | 1.38096 |
| Transfer to David William RICHARDSON | 28 | 0.34524 | 9.66672 |
| Transfer to Ian GRANT | 13 | 0.10424 | 1.35512 |
| Transfer to ALLAN MACDONALD | 14 | 0.10424 | 1.45936 |
| Transfer to David William RICHARDSON | 10 | 0.10424 | 1.04240 |
| No further preference | 23 | 1.00000 | 23.00000 |
| No further preference | 10 | 0.34524 | 3.45240 |
| No further preference | 20 | 0.10424 | 2.08480 |
| Not transferred due to rounding | | | 0.00000 |
| | Total | | 119.44176 |

This report contains the transfers results.

Stage 5 - Exclusion of Ian GRANT

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|--------------------------------------|-------------------------|----------------|-------------------|
| Transfer to ALLAN MACDONALD | 131 | 1.00000 | 131.00000 |
| Transfer to David William RICHARDSON | 64 | 1.00000 | 64.00000 |
| Transfer to ALLAN MACDONALD | 4 | 0.34524 | 1.38096 |
| Transfer to David William RICHARDSON | 48 | 0.34524 | 16.57152 |
| Transfer to ALLAN MACDONALD | 59 | 0.10424 | 6.15016 |
| Transfer to David William RICHARDSON | 29 | 0.10424 | 3.02296 |
| | | | |
| No further preference | 150 | 1.00000 | 150.00000 |
| No further preference | 32 | 0.34524 | 11.04768 |
| No further preference | 140 | 0.10424 | 14.59360 |
| Not transferred due to rounding | | | 0.00000 |
| | Total | | 397.76688 |

This report contains the transfers results.

Stage 6 - Exclusion of ALLAN MACDONALD

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|--------------------------------------|-------------------------|----------------|-------------------|
| Transfer to David William RICHARDSON | 88 | 1.00000 | 88.00000 |
| Transfer to David William RICHARDSON | 10 | 0.34524 | 3.45240 |
| Transfer to David William RICHARDSON | 49 | 0.10424 | 5.10776 |
| | | | |
| No further preference | 586 | 1.00000 | 586.00000 |
| No further preference | 12 | 0.34524 | 4.14288 |
| No further preference | 253 | 0.10424 | 26.37272 |
| Not transferred due to rounding | | | 0.00000 |
| | Total | | 713.07576 |